

<p>الف) $y = x^2 - 5 \rightarrow x^2 = y + 5 \rightarrow x = \pm \sqrt{y+5} \rightarrow y+5 \geq 0 \rightarrow y \geq -5 \rightarrow R = [-5, +\infty)$</p> <p>ب) $y = x^3 + 1 \xrightarrow{\text{①}} R = \mathbb{R}$ <i>بزرگترین توان فرد است.</i> $\xrightarrow{\text{②}} \sqrt[3]{x^3} = \sqrt[3]{y-1} \rightarrow x = \sqrt[3]{y-1} \rightarrow R = \mathbb{R}$</p>	۱
<p>الف) $y = x^2 - 4x + 2 \rightarrow x^2 - 4x + y - 2 = 0 \rightarrow x = \frac{4 \pm \sqrt{16 - 4(y-2)}}{2} \rightarrow -16 + 4y \geq 0 \rightarrow 4y \geq 16 \rightarrow y \geq 4$ $\hookrightarrow R = [4, +\infty)$</p> <p>ب) $y = x^2 - 5x + 1 \rightarrow x^2 - 5x + 1 - y = 0 \rightarrow x = \frac{5 \pm \sqrt{25 - 4(1-y)}}{2} \rightarrow 25 - 4(1-y) \geq 0 \rightarrow 21 + 4y \geq 0 \rightarrow 4y \geq -21 \rightarrow y \geq -\frac{21}{4}$ $\hookrightarrow R = [-\frac{21}{4}, +\infty)$</p>	۲
<p>الف) $y = \frac{x^2+3}{x^2-2} = y \rightarrow x^2 = -\frac{-2y-3}{y-1} \rightarrow x^2 = \frac{2y+3}{y-1} \rightarrow x = \pm \sqrt{\frac{2y+3}{y-1}} \rightarrow \frac{-3}{y-1} > 0$ $\hookrightarrow R = (-\infty, \frac{3}{2}] \cup (1, +\infty)$</p> <p>ب) $\frac{2 x +1}{ x -2} = y \rightarrow x = \frac{+2y+1}{y-2} \rightarrow \frac{-1}{y-2} > 0$ $\hookrightarrow R = (-\infty, \frac{1}{2}] \cup (2, +\infty)$</p>	۳
<p>$y = \frac{1}{x^2 - 4x} \rightarrow yx^2 - 4yx = 1 \rightarrow \frac{y}{a}x^2 - \frac{4y}{b}x - \frac{1}{c} = 0$</p> <p>$x = \frac{4y \pm \sqrt{16y^2 + 4y}}{2y} \rightarrow 16y^2 + 4y \geq 0 \rightarrow 4y(y+1) \geq 0$ $\hookrightarrow 2y = 2y \rightarrow 4y \neq 0 \rightarrow y \neq 0$ $\hookrightarrow R = (-\infty, -\frac{1}{4}] \cup (0, +\infty)$</p>	۴
<p>الف) $y = x^2 - 4x + 2 \rightarrow \text{Min} \begin{cases} x = 2 \\ y = -2 \end{cases} \rightarrow R = [-2, +\infty)$</p> <p>ب) $-x^2 + 4x + 2 = y \rightarrow \text{Max} \begin{cases} x = 2 \\ y = 2 \end{cases} \rightarrow R = (-\infty, 2]$</p>	۵

الف) $y = \sqrt{x^2 - 4x + 4} \rightarrow x^2 - 4x + 4 \rightarrow \text{Min} \begin{cases} x=2 \\ y=-4 \end{cases} \rightarrow \sqrt{R} = [-4, +\infty) \Rightarrow R = [0, +\infty)$

ب) $y = \sqrt{-x^2 + 4x + 10} \rightarrow -x^2 + 4x + 10 \rightarrow \text{Max} \begin{cases} x=2 \\ y=14 \end{cases} \rightarrow \sqrt{R} = [-\infty, 14] \rightarrow R = [0, 14]$

6

الف) $y = x^2 + 3x^2 + 2x + 1 \rightarrow R = \mathbb{R}$

ب) $y = \sqrt{x^2 + 4x^2 + 2x + 1} \rightarrow x^2 + 4x^2 + 2x + 1 \rightarrow \sqrt{R} = \mathbb{R} \rightarrow R = [0, +\infty)$
 \downarrow
 $(-\infty, +\infty)$

7

الف) $y = \frac{4x+1}{x-2} \rightarrow R = \mathbb{R} - \{2\}$

ب) $y = \sqrt{\frac{4x+1}{x+3}} \rightarrow \sqrt{R = \mathbb{R} - \{2\}} \rightarrow R = [0, +\infty) - \{2\}$
 \downarrow
 $(-\infty, +\infty)$

8

الف) $y = \frac{4x+1}{x-2} \rightarrow \begin{cases} y=4 \\ x=2 \end{cases}$
 $f(x) = \{(0, \frac{1}{-2}), (\frac{1}{4}, 0), \dots\}$

ب) $y = \frac{4x-2}{1-2x} = \frac{4x-2}{-2x+1} = \frac{2(2x-1)}{-1(2x-1)} = -2$
 $1-2x \neq 0 \rightarrow x \neq \frac{1}{2}$
 $1 \neq 2x \rightarrow x \neq \frac{1}{2}$

9

الف) $y = \cos^2 x + \frac{1}{\cos^2 x} \rightarrow R = [2, +\infty)$
 كسر مربع جيب
 مثبت لست.

ب) $y = \sqrt{\frac{x^2+1}{x}} = \sqrt{\frac{x^2}{x} + \frac{1}{x}} \rightarrow \sqrt{x + \frac{1}{x}} \rightarrow \begin{matrix} x \text{ متساوية } \\ \text{باشتر} \end{matrix} \rightarrow (-\infty, -1] \cup [2, +\infty)$

10